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1. Big— 1 BEREMNELKZE 13700 jo/if , HAsNE_E3KZE137507T/ME,
HASRERRBRER

SRS : 12400 — 137007T=-1300 75/M

HALS%S : 13750 - 12500= 1250 75/

: 1258-1300=-507¢/1%
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SEFRSENfT= 12400 + 50 = 12450 75/M4
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IWEES : 12400 — 13700 =-1300 Jo/ME
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HilES ( BIRUERETI ) @ 13750 — 12500 - 240 = 1010 JT/i%

AT : 1010 - 1300 =-290 jo/MH

SEFRSEANf = 12400 + 290 = 12690 jo/nk

2. R—1BEREMETEXE 11000 jT/ME , HAGNE TFEXEI11050 JT/m

HASSERRRERES

MEEES : 12400 - 11000 = 1400 75/04
HALSZES : 11050 - 12500 =-1450 JT/0f
RS 1 1400 — 1450 =-50 7T/
SEFRSEN{ft= 12400 + 50 = 12450 JT/M
HANERB R E RS

IEES : 12400 - 11000 = 1400 o/

HINES (EINREERTN) | SRiNFE=-2407T/1%

RZES : 1400 ~ 240 = 1160 jo/ME

SEFRSEANfT= 12400 - 1160 = 11240 jo/i%
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